Kow R OE L&
62

JOURNAL OF NETSHAPE FORMING ENGINEERING

LERE I AR
2013 4F 1 H

KEIAFZRNRFNLESREA

FRE, HiE, BE€H, K&, TEH
(AL TR REVRAE AT VEL AL H], PE4 710025)

PE: T AL AR A — AR L B A AR — AN BT RS R AT
AR TG EM R T LI TUA AR T A S ERHERT, EEANBT L

o) TAE R 2 Aok it B b AL B L LB

KW : KR TR FInid RID; Bt R b PR

DOI: 10.3969/]. issn. 1674-6457.2013.01.016
hESES . TG386. 44 XEAERIAD . A

XEHS: 1674-6457(2013)01-0062-05

Blanking Drawing Extrusion Trimming Compound Die for Low Workpiece

WANG Hong-wei, XIAO Feng, JIA Jin-wei, ZHANG Jin, WANG Fei-qiao
(Xi‘an Qinghua Company, North Special Energy Group Co. , Ltd. , Xi‘an 710025, China)

Abstract ; Blanking drawing extrusion trimming compound die is a new composite mold form. The drawing and extrusion trimming

process can be completed in a press stroke for the low workpiece. The inside of the workpiece, diameter and height dimensions can be

ffectively controlled. This paper introduces work principle of the mold and the design main points, and gives mold examples.

Key words: low workpiece; extrusion trimming principle; design; mold examples

1 REIGMITZ

SHRIE ISR T A (FE M 1 B h/d<0. 3 (3
BETCM 2k T A AE R TP AT B RS Re e i T
F) — MR R I 5k Fr iR, SR 5 P — ik Uik
{14 T S e B RSP R il RS T
PEIRAR R B ™ 2% 1Y), FHASE B T8O TR D0 340 (3
BT ) 10 7 2R DY B A8 3 4 i 5 % F il I h
TCI 2R T A% 0 K SF-30 84 ll i 80 F 328 Rk
YIBR & At IR e T B TP Re A 3k
5 07 L B RO RS BEAS 3 i T R mT A 0, fE
FRTEAR, 2 25 /NI IE 26 R0 T ke U 20 2 A5 55k A
e, WNE 1 BRI TAFSUE T Fh AL, bk segs

s BEE. 2012-04-24

b5 S0 é11
2 l . 5 > ’;’l Q% % .
T ‘ $4.2 ! ¢>14IL.5h10 * “

a AL H68 b A1k 08Al

K1 TAF
Fig. 1 Workpiece

GREGIRIE AR, a0 RS R R BOE (FA ™ 2 800
) SR PEUIBR TUBR B 1 A B I D 2007 1k IR
] 11 (57 PR R S5 DR 28 AR 52 ], T ) e JEE AR Uk 5]
FoRZER, RIME B R, ORI A —ERF, NIt
SIS S REH A AR 5, B0 13l TR
TAFRIFRE IR SN G RA

EHEBN: ZTEHE1951-), F T T3WMA, TN FHF ERRKTHE,



B5E A1

2 BiliajREE

FATE R RO B Y13 A B IR T
P HAS I3 B BT UITE R P | B 2 A TR R A
Y4B, SRRV R A TR 1 T2 )
T 1AL R i 3 (PR FE PR R L 52
R PR S TR A T
LRI RV A B8 ) T FF A fih B B 1 R
E ™ IUVRE A 1135 DR A T 2 ()5 67 il B /1
{65 4 AR O S E A U 11 2 53R BB, 7647
i FE Ay RS S A DR AR T
S Y 1 S R LR AT B R 2 Ay TR SRR
A SVRE B P R 3 5 7 B R B L, TS
B RRAE A B R LR TR R e R
FIHLVE B BRI, 53 50 P TR I 320 B4 L 4
BELAN 42 SR BN AR RS EL | 5 v 7 o0
T4, JERHRLTRBR IR TR RN 2 BT 7%
 ATRHF

b N Rt
| JEH T
ekt N ﬁm@
H;\px ROV

B2 FoRb B Bl TR

Fig. 2 The blanking, drawing, extrusion trimming die princi-

ple diagram

SRS L T ot A A RS B i BE R 4
P R SR RS PRI Ay B AR 2R T T

3 BEEIGIHES
3.1 HENREERTD, E

PLRBERRCT D fEAR IR AR50 73 B i 9
WREE 5N DN g R G T A Sl 4 P (B
HRBEAAER , 0 R B0 8 T 220K BilR
SN HEATRREERY 1.5 ~ 3 {5, B D, EHIS,
I R T G A R TR R A T S A

Dy fHIRZ BN TAFAERILR OB I, BE A A M
PR OB R Sa i G B0, DL K TR 5 B A 2 R] g
WM ST 8 . D, (KRB R R Z X AL

ERMAE MR TR RHIR S SRR 63

TRBRA L b T REFE PR T A S R E S R éLHsV”
D, B/, HIIR G BB AR R B a2/, M
JINERF A 4 b T ] M R IR R

3.2 THEFVIEREC, &

IR ¢, (H T #21 3 bR 2 RS o,
B 7% ~10% i 2 (¢, 18 1] 38 2 o i A A AF 1)
) AR S ¢, (EA B ol ) (b 3k ] Bt

PP AR SO e R TR e
Tf E
N
) B ]
N ST R G
N“'%& R %
B N L N
IS ]

I3 i Rk B0 o B X
Fig. 3 The difference between common blanking and extrusion

shear

U143 B 1) AR T a3 B 5 4 AN [] 35 3 o 4 AR

e B DX IR AR RS A 1 3R L, ani&l 3
TN o e R Y R R AR B, B YD 43 B Y
MRS TR R IR AR B [R5 38 o 3 ) 4k 5
AR 53 5 R 0l T L VI Y, AR R BE ¢, AT
i AU S FEBTUI o0 B B, AERHEE ph 3R T 1) YRR
PRIHMITSE AR I AR B2 AR 1 ¢, o PR 1, >e,, BT LASY
VIIBR €, {0 % L3538 ) R B €, fE R

R DA TR A 5 s T, 5170 40 5 9 T4, W
AR EER, B IEFEN, REHUIEE C, |
AH XM BE B U0 B i 5 4 AT DL VR G I 1Y
TEFBWHER (FEE C, ARG K, 7 ) = f ™
AR

3.3 HWEXBAHETIERTREIT

B ICHEAE AR R s an el 4 B,
1) PO R BT, ZERLER DI R Y
AR (A8 TAEM ) T Z BT 5 AR R



64 Wo# R E T &

gjp\_ji;‘—/ﬂl\ HIfES
~ | s N
D (AR
dﬂ
d,
. 3 (AR
[
?_:i_j\ﬁ@wm&ﬁ
dy
D,
" AUl
> 24/
L | =1
D,

BA]

. | A
< C}

P4 BHEOCHE TAERSE
Fig. 4 The working sizes of key mould parts

SHHEE B BB N & /N d, R3S TN AR
WisE, A KER d, = D-2C,(D Jg ™ ML N
7Y, B mEE b WK TN AL E i e,
FE b B WA AL 1 1 15 22 R L RE B A 25 X6}
T BE R, R B U0 B R A, B SR PR Y]
B RAR 5 /ME R I i B S, KRR 0 1R
FRERRA . B U A A B BE Cri2MoV , #4
AL PRAE FE N 59 ~ 63HRC , BoR A BARAHIRE FE |

2) YR SRR P R e, o [
MAME d, (6 F7ERHMA ) N AR D, 8, 3 R A1
TR R RS W , WO 22 (B 1 v 26 TB) B4 5 IR e i
BORWUE , BLEA J1 DAL T R EEEER] ™ AR Y
FLRSE D AR T AR AME RSHI 2, Y R 22
RPIRATLE SR, DL EBLEA A Cri2MoV, #4b
PREE LR 59 ~63HRC, Heili Bl AN d, 5575 FHM
5D, FECA L #E fo/HT , KB R N1E D, SHiiE
VI M RLAME d, Z B B BC A 28 HT/h6, A1 KRR
CrWMn , Kb FRAE B 58 ~ 62HRC, DL EEFrYFR
T FELRS B Qi 4 BT

3.4 Bl TS LRRIFETE

TEIEFAFOL, BrO)5 i A REs B 7E AT
FET BRI AR T AT Y (EL 2 H BT A i
FERLUR YL MR B, X A5 L 1 T e P 7 25 A

20134E1 H

PNRON AT G U =y

1) FECRUE TS OIS i1 50 T, 55 U1 1]
B C, I AR A B B A i B N BOR AL, DA 8
IMIBR €, B3R, REAERL IR U1 B B TAE R d,
WEZ 8/, BT dy Bel0N, 5 D0 SRR T ) i
BlNAE D, FIFEERAT W/, D, BN, SEhr b4
RT A SHUASHIN  i Fe b S 175 T BB T 114422 S e
L XA IR AT AR Bl (EL S e T (]
Fea R AT EEE . R TR B Z R H T
PEAMESF RN ML R N AR D, AR TR
& D,, R NSNS , HSEHIENRE D, Z
[ R E 503 B, SO AN BRI, ol TR S R A
Kb AR AR BT — AR AN 22 KK, B LA BRI TR
i FERLR AR L ) s R [l i iy 3 T8 7 e 4
AEAS K TR ) ORI — ke M st T
VR TAR R IR INIE 5 s

ﬂﬂﬁ—%}*

D U

sronmee, (N1
pEg | |'§TZ

(Kfz=d,) r = I ‘ a
— T

(Wi2=D,)
e
E\

- 8

—
- \_‘_1._ _J

K5 Rl EE
Fig. 5 Discharging by pressure pad ring

2) BEARAZIE 5K 16 U T YRR, TR A I
IR SME R E T AR B AR, TS 4 A R E A
MIFME . N T B BRE Dol )N PR AR BE AR AR R
7 A (AR 5 T X EHORE S R R A BT D)
WL TAERSE o) (B 225 T 0 f/ MR
RoHfE M IMBLR AR D 225 T A% s KRR R
SORHEE

3.5 HEZERNIERF

N e MR A E B R, BT R LI AT L% &
P FHARHERR L



B5E A1

ERMAE MR TR RHIR S SRR

4 PELH

— Wi 5 2 B B4 208 oh AR AN 6 B, B
Bh L3M R, T TAERORRERTE , O 1 BRI
T3S S M, TE BT IR i by B T A
AT A (R T 8 L BE TAF RT3 T ) 2 #47,

ey

NN\ X%l E 1 v
|> i I 17 HERER
g | pva
21/{0T/19/ @% | ﬁ_%r\lz 6:7
| %13 S
1 :]':’ 14 W B l‘a‘b
| %—/15 -t 1‘|_— 2
1 [
i

1A 2. AR 3. Hub 4. MIBEE 5. BRET 6. HURHER 7. MIUIRE 8.
PLGEMAL 9. YIHM AL 10, ERHYIED 11, FE B 12, T00AF 13, TR
14,5058 T 15, 384 16. FoRMR 17. 325 18. 187 124T 19,20,
22,29, W2ET 21. TSR 23. K4S 24. ML 25, (MR BEAY 26. i
JEHRR 27. 35 11 28. HUBHRET 30. FTRIFT

K6 mabif

Fig. 6 Cover mold drawing

i P B 5 PR TR G R il — R, 2o FEAb 2R
S, I B i AR AR B LB AH G , # mT LA
FHRG B IR 2 D) AT LR R AR L 14 o i
MERE . Ry 1R i AR EL R ke T RN
SR AR T I X L G g RS R 7 2 R B ASE 2
FEELR FFAE 2 B AR ORAIE

A R TR ) ( o) R 22
A g, 1 s [RE AR W) A2 970 1) e g AR 1 g
FEVHIARIIR R BT, T 5 75 T i 1) A8 0 B 2 7 1%
B, TE A R A i £~ R ARy — A4 [ R
PR ZE m (W m=0. 66, W BEHAR N 2.5
mm) , ZEIEERBERSTUE 6 iR,

Bl 6 L E R M 2 AR R R
SR EUEHR 26 HITR, TR FHATHT 30 FEVEHR 6 A
I TUIAE 7 ARSI LA L (FTHT 30 FEIEL 6 HTIREL
WA K2 ) |, 8 Xk 50 100 =X 5 e i Bh
RIfE.,

BT U 7 BT AR R R Y R MTAR 10, 43
e, MIRRES 4 NN ES 24 ) HHERET 22,29 [#]
SEE_EARNT 2 AR AR 21 b N 7 Ay IR
4 Z [A) I TE A K B e % nS/H6 , FETIRET 5 37 B 1y
WE7EAN, AR IR 11 E e RN 9 rh
TR A 1) R A 23 HEATBRA , X IHAR MR CE
PRS- EE R A AL Bk, iR W LA B AR AR
THEORAC B, TAEIPR AT RE (CSRARBTIR) 285 7
B 16 H (b [ e NTBEE [ ) | SR Bl i
YORAT, B R MK R IG , 2 PR O, T4
EE R B . AR LR R A 3 i AH AL 1Y) B
Y AT AR BAB T R AR AN, P 4 25 R
PR TAEX , a0 T AR 2, al 875 6 L 2
JT TR B E

5 REKRERRZEGHSH

BRHBORZORME SRR 1 ik 2,

PR S5 P 8 A SR — AR BDE [l e, o 1
R PR L T 35 PO X B2, o 0 R U7 320 T Ao [T )
TEARSS R UV T 2R B | iy DL RE B
M AR N A, TEBL SR AR T2 f
FIAE [ e A, O R 7 B A L I 45 45 56 P 1 D A0
E bkl



66 Wo# R E T &

20134E1 H

*1 REEARSH
Table 1 Mold technology parameters

GEyEis

FrOlmIgt ¢ kbR

TR y R W R0
mm /mm /mm
LY SR SEIE N Ry ] 140 0.05 41 FRAR . 13M 0.5 mmx64 mm J23-16 [TE L FI, 0l H3h
x2 BUHEARSH
Table 2 Technical parameters of mold parts
B mpam % mpm omeae] ® 0 mmax X mm mmakc
=2 H =2 H
1 AR 1 45 16 SRR 2 45
2 AR 1 45 17 H2RE M12 1 45
3 ol 1 45 40 ~45 || 18 VAT URAT 1 45
4 P B 1 45 19 24T M8x20 2 45
5 B2ET M8x15 1 45 20 T2ET M8x30 1 45
6 IR 1 45 40 ~45 || 21 TAEAR 1 45
7 (e LY 1 Cr12MoV 59~63 | 22 B2ET M8x50 4 45
8 Fr R AR 1 Crl12MoV 59~63 || 23 1 ] < 2 45 40 ~45
9 LZIBURkY 1 Crl2MoV 59~63 | 24 P B 1 45 30 ~35
10 PR} TR 1 Crl2MoV 59~63 | 25 IR A 2 45 40 ~ 45
11 JE 31 P 1 CrWMn 58~62 || 26 L SRR 1 45 35 ~40
12 AT 3 T10A 58 ~62 || 27 CiS| 2 50CrVA 45 ~50
13 ThiAR 1 TSA 50~55 || 28 HUEHZET 2 45 35 ~40
14 T 1 65Mn 45~50 || 29 AT M8x42 4 45
15 L e 1 45 40 ~45 || 30 FIRHT 1 45 40 ~45
AT PISEIR ) 00 T 4 TR A 7= ) i, AR B
6 %HiE A A B/ MR, [FIRERTHT Al 1 3 ik

MFERHIRYIN G, 7 — A oh AT AR v, 58
IR IR T AR v e PR DI (FEA s B0

e
(1] FE2ZEE. shEFMM]. Jba AU T R, 1992,

Y0000 0000000000000 0000000000000 000 0000000000000

(L% 61 )
5 %5

TR RE ] BOM REE5E 2 AR 1T A R Y
BOM 3%, SCRp(F5 F 2l 22 ORI 5 S s Az 0[] i
Fef% 1 A sh &R P — 4k AR E AR A i 5
BT R RERORAR i TARZCR, AR 55 %) 4
JE AR ABLTE FRIY A OR UEAS B A= 7= 4 R R4 7 A
REX,

PP 2 SR ARSI, 7 2 A AR ] 52 M ]
HERER 0 IE B2, TP HANE S 22T &
HH R S 3 A I 55 s v S S AR A e, AR AL
FITA T BOM s QBB i - 4 0 2 7 i

e LEFR N E AR SO, 2R G e i M 2 B 2K
SBOT IO PR i ARV HEREAS , AT 8 PR g i, 2k
— R TAERCE,

SZ 3k

(1] ®DD, EEE ZHEE UCFE FEMKE CAD &4
BOM FRIJREMIF &[] E Tk ,2011,37(11) : 11-19.

[2] Sk, FHbE. BT =48 CAD SRR 4% B BOM
F[J]. BE T, 2007,33(2) :1-5.

[3] J7HE BRSO XUBGHE. UG FREETF SR B4 BOM &
GTTFRL)]. Fefh s A A 4:,2005,25(4)
213-215.

[4] Z=00, AR B EE 5. Bt BOM & 5 A
BRG], BN B R 2005 ,32(4) :61-63.



